dAgfMMYd =2 HIIXIHE( 2049 128)
(M el '21.1.29)
o ‘ ‘ ‘ 20
T = frd | e 93 e T dp) | 12ap) [1~128p)
A ST M AR 96.4 92.1 859 | 826 | 772 | 727 | 726
(MAZ7[H] %) (-1.5) | (-4.4) | (-6.8) | (-13.7) | (-12.0) | (-14.5) | (-15.4)
R TES 95.2 88.7 83.6 79.9 79.4 785 742
A A (MAS7(H]| %) (-3.0) (-6.7) (-5.8) (-10.2) | (-4.9 (-5.3) | (-11.2)
= SRS 95.9 93.6 87.0 84.6 716 50.8 68.6
(MAS7|8] %) | (-04) | (-24) | (-7.0) | (-19.9) | (-232) | (-30.1) | (-21.2)
slarMd S T = 1060 | 107.1 95.0 902 88.7 94.6 81.0
(MUAS7(H] %) (3.3) (1.1) (-11.4) (-3.2) (-1.2) (-1.6) | (-14.7)
M S M ALY 98.1 946 | 896 | 925 | 869 | 777 | 78.4
(MHAS7IH| %) (-1.3) (-3.6) | (-5.3) | (-5.9) | (-7.6) | (-13.7) | (-12.4)
Mg M= 94.9 89.1 84.6 84.4 82.3 78.8 76.4
- (MAS718] %) | (-38) | (60 | (-52) | (-68) | (-35 | (-57) | (-9.6)
SERTES 998 97.4 930 | 1026 | 907 706 79.7
(MAS7(dH]| %) 0.2) (-2.4) (-4.6) (-5.7) | (-13.5) | (-26.4) | (-14.4)
slafa e M= 1070 | 1094 | 99.8 93.1 93.9 98.1 83.3
(MAZ7|1] %) 4.1) 22 | (-84) | (22 | (-04) | (02 | (-165)
A S M AR 101.4 | 1032 | 105.8 | 105.6 | 103.3 | 103.0 | 107.8
(MHAS7(H] %) (1.8) (1.8) (2.6) (-2.6) | (-3.8) | (-3.1) (1.9)
R TES 1030 | 1007 | 1019 | 1051 | 1024 | 1046 | 107.0
e (MAS71Hl %) | (50) | (23 | (12 | @6 | (12 | @44 | (60
e SRS 98.4 1040 | 1088 | 1114 [ 1103 [ 1089 | 111.0
(MEAS718l %) | (-12) | (B7) 46) | (38 | (38 | (39 | (20
slarMd S T = 1078 | 1082 | 1072 | 845 791 746 98.1
(MAS7|H| %) (2.7) 03 | (<09 | (-18.0) | (-21.0) | (-24.9 | (-85
A = M AL 95.3 944 | 919 | 8.0 | 8.4 | 8.0 | 805
(MHAS7(H] %) (-2.8) (-0.9) | (-2.6) | (-11.6) | (-6.8) | (-6.5) | (-12.4)
S RERTES 93.8 %28 91.2 84.4 84.0 83.7 795
S (MAS7|8] %) | (-34) | (-1.1) | (-1.6) | (-134) | (-83) | (-7.9) | (-12.8)
slarMd S T = 1045 | 1046 | 96.1 95.9 943 | 1005 | 864
(MAS7|H] %) (0.9) ©01) | -82 | (03 (2.5) (2.0 | (-10.1)
Mes 3o 13,742 | 14,080 | 12,959 | 937 | 1,020 | 1,115 | 11,242
~xzol (MHAS7(H| %) (-0.5) (2.5) (-8.0) | (-15.8) | (-6.4) (2.9) | (-13.2)
o) ARE T 15,194 | 17,141 | 17,130 | 1,569 | 1,257 | 1,327 | 16,230
T (MHAS7(H] %) 4.7) (12.8) | (-0.1) | (-<7.1) | (-0.9) | (1.3) | (-5.3)
CX=PSN ~1.452 | -3.061 | 4,169 | -632 | -237 | -211 | —4,988
oy o T o 440,288 | 465005 | 473,162 | 40903 | 41588 | 42,051 | 475219
il (MAS7|H| %) (3.8) (5.6) (1.8) 06 | (09 | <12 | (0.4)
(Alote) o= mojod 58.654 | 60,917 | 60,040 | 5,471 | 5,476 | 4,325 | 50,497
(MHAS7IH| %) (-0.4) (3.9) (-1.4) | (-0.5) | (-12.9) | (-23.4) | (-15.9)
se 2/ (T ) 1131.0 | 1100.6 | 11659 | 1142.0 | 1115.0 | 1094.0 | 1179.7
7t | gI7K=SHtol, §/Bbl) | 53.2 69.4 | 635 | 407 | 434 | 498 | 422
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e LR | Lo 7| F B A| Lo A TLR|
=L S o o = AL =X x
<gE 77l MaF & F0|>
1,300 - ==Z(H0ks), SHE(0] 2 20| ¥3h |7HFHIO|F7|E, s/8bl) [ 90
1,200 - J = - 80
1,112 1,115
1,100 4 1084 1,064 : - 70
1,020
1,000 - - 951 971 - 60
937
900 - 50
800 720 - 40
700 - 30
600 = T T T T T T T T 20
19.12 201 20.2 203 20.4 205 206 207 208 209 2010 2011 2012
mmrE ——=g =97}




